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1. When the First Industrial Policy was declaredby 1+ #Ra &R g1 waA 3feifis Afy &1 gwon

the Govt. of India? e &1 T

(1) 6™ April, 1956  (2) 6™ April, 1948 (1) 6 e, 1956 (2) 6 3e, 1948
(3) 26™ April, 1948 (4) 16” April, 1948 = (3) 26 3, 1948 (4) 16 3=, 1948
(5) Question not attempted =op (5) arafta v

2. The Fiscal Deficit of the Central Government, 2+ $gid WXGN & AOHME ©ET Hg@N a9

which reached to 9.2 percent of GDP during the
)
Pandemic Year (Financial Year 2021) is (et = 2021) B SN T HYE SR B

budgeted to be how much in Financial Year 9.2 ufea @@ wgw T o, faxim o 2023
20237
(1) 64 percent of GDP (Gross Domestic 7 T+T1. AT 17
Product) (1) Fel B 9T T 6.4 Wiewd
(2) 3.5 percent of GDP (Gross Domestic
Product) (2) Weper E¥e], SeTE HT 3.5 wia
3 ;
(3) 6.7 percent of GDP (Gross Domestic @) e SreTah
Product)
(9) 4.7 percent of GDP (Gross Dnmeﬁ (4) wehel BT, SR W 4.7 Ao
Product) e
(5) Question not attempted (5) srgafa we
3. Which of the following is Not a part of real 3 F=fafan § § @ arafds wugd @
wage? fowar =8t 87
(1) Minimum Wages (1) =pTem wogd
(2) Avenues for extra earnings (2) sifafaw sma & S
(3) Working Conditions (3) &1 T
(4) Incidental Benefits (4) arHivs ™
(5) Question not attempted (5) srwiva W _
4. The formula of determining Marginal Propensity 4 ¥ SmarT wgftn (MPC) & fafkor &1 ¥@
to Consume (MPC) is - &=
(1) e (1) Mpc = =
MPC = Consumption 1|I:,l._..! vl
@ mpc = Consumption Tenl (2 MPC = %
Income
(3) R
(3) __ Change in consumption MPC = —m——
MPC = Change in income it :Tﬂ;
(4) MPC = Change In Income @ MPC = -ﬁ‘m
" Change in Consumption (5) £
(5) Question not attempted
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5 In the year 2022-23, Rajasthan’s Gross State 5 a¥ 2022-23 § Yo\ F TFd 5T e

Domestic Product (GSDP) at constant prices JATE (GSDP) Rerw Feui (2011-12) W o —
(2011-12) was -
(1) ¥6.60 Lakh Crore  (2) ¥ 5.99 MCMI@ (ISR B AT I Wy
(3T 7.99 Lakh Crore (4) T6.56 Lakh Crore ~ ) 79 T 3qs  (4) 6563 7 ars
(5) Question not attempted (8) srgeiRar e
6. Which of the following is not a constituent of 6 Fr=1 % § @ Wfda qg1 aT9R @1 s &
Organised Money Market? g7
(1) Co- operative Banks (1) wear) &
(2) Reserve Bank of India (2) wreefta Rod &
(3) Commercial Banks (3) sl 4%
(4) Indigenous Bankers (4) 29 et
(5) Question not attempted (5) arala yem
7- Match List-I with List-Il and select the right 7 §d-1 & qf-I1 ¥ wafer #Rm o 99
answer using the code given below - f&d i e w1 yam o HE 9w g —
List-1 List-11 '\‘ﬁ'l—l W‘H
(Fort and National Park) (District) -
(A) Ranthambhore (I) Jaipur ﬂ [T mﬂ P ) @ g:;?
(B) Nahargarh (IT) Bharatpur (B) TE0TE (1) "R
(C) Keoladeo (Ghana)  (ITT) Jodhpur (©) Sntte ) i
(CDBL:!Mehmngarh (TV)Sawai Madhopur (D) ¥ETTTE (V) T iR
e-
(1) (A)-IIL, (B)-IV, (C)-1 (D)-II :E"{ S Wl v
(2) (A)-1, (B)-I1, (C)-III (D)-IV (2) (A)-1, (B)-IL, (C)-HI (D)-IV
{3] {A}-[V. {B}‘I. IC]'II [D]']I[ {3} (ﬁ]-w. (B}'I. {C}-H {DJ-III
(4) (A)-I1, (B)-IIL, (C)-IV (D)-I (4) (A)-I1, (B)-IIL, (C)-IV (D)-1
(5) Question not attempted (5) aFmita we=
8. From where the co-operative movement first 8 IoRIE § WEHT e @ AT I
started in Rajasthan? UEe FEN H §E?
(1) Ajmer (2) Jaipur (1) s (2) Sragy
(3) Ganganagar (4) Bharatpur (3) TR (4) seergR
(5) Question not attempted N (5) sl we
9 When were 1000 and 500 Rupee notes 9 #Ra # 1000 @or1 500%. & et @7 fAg@wHw
demonetized in India? #q fobar ma7?
(1) 8th November, 2015(2) 8th November, 2017 (1) 8 T9=", 2015 (2) 8 g7, 2017
(3) 8th November, 2018(4) 8th November, 2016 (3) 8 FE%R, 2018 (4) 8 @R, 2016
(5) Question not attempted (5) sraRa wea
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10. Stagflation means -
(1) Inflation with depression
(2) Inflation with decreasing production
(3) High Prices and high unemployment
(4) All of the above
(5) Question not attempted
Who is known as father of Green Revolution in
India?
(1) Man Mohan Singh (2) M.S. Swaminathan
(3) APJ Abdul Kalam (9) Varghese Kuriyan
(5) Question not attempted
Match List-I with List-1I and select the right
answer using the code given below -
List-1

(Name of Programme)
(A) Drought Prone Areas Programme (DPAP)
(B) Desert Development Programme (DDF)
(C) Aravalli Afforestation Project (AAP)
(D) Modified Area Development Approach

(MADA)

List-TI

(Year of Commencement)
(T) 1992-93
(IT) 1978-79
(1) 1974-75
(IV) 1977-78
Code -
(1) (A)-IV, (B)-II1, (C)-IT (D)-1
(2) (A)-1, (B)-II, (C)-III (D)-IV
(3) (A)-11, (B)-I, (C)-IV (D)-11
(4) (A)-IIL, (B)-IV, (C)-1 (D)-II
(5) Question not attempted
Which of the following Canons was NOT
propounded by Adam Smith?

1.

12.

13.

10. ¥eargerer &7 a9 § —
(1) w1 & T HEE
%’Ejﬂ e # fivmae & wwer geresif
2 A3 S e TE S a9
(@) Svfa @
(8) srmiRe w=
1. 9§ eRa Hifa &1 o= 5w 5 a2
(1) w=re e (2) T, A
(3) ghisr. srge o (9) afte gRae
(5) arpeife wes
12. -1 &1 wa-1 9 gafem i qur =
et T T T wEE W GE S g -
-1
(@rds &1 )
(A) @A &3 PriwH (DPAP)
: (B) #% fa@e wr®mH (DDP)
E{C} TSl FERITOT URATAAT (AAP)
10 ) gftafia &= e gResior (MADA)
-1
(wrenr @1 )
(1) 1992-93
(1) 1978-79
(1T) 1974-75
(IV) 1977-78
E —
(1) (A)-IV, (B)-IIL, (C)-11 (D)-I
(2) (A)-I, (B)-II, (C)-I1I (D)-IV
(3) (A)-II, (B)-L, (C)-1V (D)-IMI
(4) (A)-I11, (B)-IV, (C)-1(D)-1l
(5) argaie ue
frfofier # & #w frea ges R gm

S5 | pimfta 8 e mare

Taal

(1) Canon of Convenience (1) gaen &1 Regia

(2) Canon of Equity (2) T &1 fgra

(3) Canon of Elasticity (3) Aradiern @1 fagia

(4) Canon of Economy (8) foreraraar & fagia

(5) Question not attempted (5) argeiiRe weH
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14. What was the growth rate of population in 14 /= # 2001-2011 &t s@f (go®) #

Rajasthan during the period (decade) of 2001- ST @ gfl 7% fa o
20117
(1) 28.41 percent  (2) 22.41 percent E ) 28.41 witvery @ 22.41 wfza
(3) 21.30 percent (4) 2521 percent Tesi® (3) 21.30 v (4) 25.21 wftrere
(5) Question not attempted (5) srgafia we
15. According to David Ricardo, Marginal land 15. 3Re Rarel & s e ot 2 & -
ﬁ::; i b (1) s (2) st s
nt ore Rent
(3) No Rent (4) Less Rent ®) 7 S ) bl
(5) Question not attempted (5) srgeiar wet
16. Bureau of Investment Promotion (BIP), a Nodal 6. I/wiei= 91 & Aredl vore] R HAF g
Agency in Rajasthan, acts as a Co-ordinating WA (Faw Hags =) s 99aae qerd)
Agency between - o WO H HW F & -
(1) Employer and Employees (1) FyarEar ok wdwiRal & #eg
(2) Industrial and Politicians (2) SEiTafer afte worifest & e
(3) Investors and the Government 2 (3) Fraereat ok wwer & w=
(4) Customers and Sellers ﬁ (@) greei siv famari &
(5) Question not attempted (8) srgmie ue _
17. Which place is occupied by Rajasthan in terms - 17. #ifers damar 91 gfie & Iomemr &1 wRa
of geographical area in India? BIEE W B
(1) Third (2) Fourth (1) gefra (2) =g
(3) Second (4) First (3) faeim (4) wore
(5) Question not attempted (5) srqeila we
18. What is the ratio of Central Share and State Share 18 frari & wft @l & forg “warial o fyard
in subsidy for all categories of the farmers under Qo — e fHarg” (PMKSY-MI) & s
“Pradhan Mantri Krishi Sinchai Yojana — Micro G H W W AT qe e @ A6 @
Irrigation” (PMKSY-MI) : : ST w87
(1) 50: 50 (2) 70: 30 (1) 50: 50 (2) 70 : 30
(3) 60 : 40 (4) 40 : 60 (3) 60 : 40 (4) 40 : 60
(5) Question not attempted E (5) srgafa wem
19. On which Indian currency note is the Stn:'™9. Wy & W Fle w® gd sfex, wond Rifya
Temple, Konark depicted? faar T &2
(1) T 10 note (2) T 100 note M 1R e (2) 100% e
(3) T 50 note (4) T 20 note (3) SR e (4) 202 =1
(5) Question not attempted (5) araifte we
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20. According to ‘Wagner's Law’, the root cause of  20- “37R fom & ouR aygfe W A

ﬂ'ﬂ: injcrensing public expenditure in modemn AT @ & T BT g TR & —
mes is -
(1) Democracy ':'I‘ | ) yorEE
(2) The pressure of rising population Vool (2) it FEEE S T
(3) Defence (3) zem
(4) The pressure for social progress (4) wrafore WAl 2q <4
(5) Question not attempted () argeilRe wes
21. In the long run a monopolist eams: 21. e § UF THIREH 9T w8 —
(1) Loss (2) Excess Loss DR (@) R g1
(3) Normal Profit ~ (4) Excess Profit (3) T w (4) afefRes @
(5) Question not attempted (8) argeilRa weA
22. Under which of the following situations of the 22 Fp=fafas # & ao @ @0 Ruf 7 e
market, selling costs are most significant? AT S FETr &7
(1) Monopoly (1) yepritipre
(2) Oligopoly (2) SeRHR
(3) Monopolistic Competition (3) yfermTRIeT® ST
(4) Perfect Competition m (4) of srfenfian
(5) Question not attempted ?u-'k ' (8) IrgeRa we

23. Match List-I with List-II and select the right 23. §efi—1 &1 |&-1 9 Waform $iforg ur =

answer using the code given below - & m s & v @ w8 S g —
List-I W—l
(Theories of Business Cycles) (EmR @ Rigia)
(A) Pure Monetary Theory (A) fagg Wts fhamE
(B) Under Consumption Theory (B) 3w SudrT g
(C) Psychological Theory (C) werdsfAes Rigra
(D) Innovation Theory (D) Fa—waeH fagid
List-TI -1
(Profounder) (wferare)
(T) J.A. Schumpeter (I) ey
(II) A.C. Pigou (gt dhg
() R.G.Hawtrey (1) aR5f. &
(IV) J.A . Hobson ;'ll.# (Iv) AU T
Code - it e -
(1) (A)-I1, (B)-II, (C)-1 (D)-IV (1) (A)-I1, (B)-IIL, (C)-1 (D)-IV
(2) (A)-1V, (B)-I, (C)-ITI (D)-I (2) (A)-IV, (B)-I, (C)-TTI (D)-11
(3) (A)-IIL, (B)-IV, (C)-11 (D)-1 (3) (A)-IIL, (B)-IV, (C)-11 (D)-1
(4) (A)-1, (B)-I1, (C)-IV (D)-III (4) (A)-L, (B)-11, (C)-IV (D)-I1I
(5) Question not attempted (5) srgeifee W
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24. In perfect competition, a firm can continue 24. f wfehfirer # arcg@a ¥ & o B So@T

production even at a loss in short run if: H SEIET HY W@ wEHdl 8, I —
(1) Fixed Cost = Price v () ey s = P
(2) Marginal Cost = Price ﬁ @) dr @ = A
(3) Average Variable Cost = Price () sirge sRadasia @ma = e
(4) Average Cost = Price . 4 afwra =T = g
() Question not attempted (5) sraRa wed
25. Which of the following is the objective of 25 fymifa & & Fiwwn Wz Hfy = vy &2
Monetary Policy? (1) Frwa =
{10 Reics uliey (2) Rt = % wnfee
(2) Stability in Exchange Rates @ sl o
(3) Economic Growth
(8) All of the above i ik
(8) Question not attempted (8) sl west
26. Who manages the Monetary Policy in India? - R 7 WfeE R T ggws S o 27
(1) Government of India - (1) AT TVER
(2) NITI Aayog (2) ey amamT
(3) Reserve Bank of India (3) weig Rod &%
(4) All of the above (4) SureT wedt
(5) Question not attempted (5) srpafa ge
27. “Theory of Spontaneous Growth of Money “is  27- “HgT &1 o gy fagi fras afmfea
propounded by - farar?
(1) G.D.H. Cole (2) Spalding (1) shidiva s (2) TrafET
(3) Robertson (4) Hartley Withers (3) Fadw (4) et fad
(5) Question not attempted (5) srgaRa v
28. Which effect states that demand for sta FITET W o S & 6 uftreres awga
symhnlgnndswouldguupwithaﬁseinwici':' o 7 Hd F g F W oW ol ek
and vice- versa? goua fagda?
(1) Veblen's Effect  (2) Income Effect (1) qaer W (2) s T
(3) Substitution Effect (4) Price Effect () uftveno wmg (4) g
(5) Question not attempted (5) srgmiite wee
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29. For which one of the following crops. maximum 29 fy=ifefsa # & $Wd@ ®aa @ fE®HTH

an.

33. When was £ 10,000 note was completely banned 33

productivity (Kg./Hectare) was recorded in th
year 2021-22 in Rajasthan?

(1) Foodgrains (2) Oilseeds

(3) Pulses (4) Cereals

(5) Question not attempted

sk

Which Economist named super- multiplier as
compound multiplier?

(1) Keynes (2) Samuelson

(3) R.G.D. Allen (4) Hicks

(5) Question not attempted

Which of the following institutions provide short
term co-operative credit at the district level?
(1) Land Development Bank

(2) Primary Credit Society

(3) Apex Bank

(4) Central Co-operative Bank

(5) Question not attempted

NITI AQyOgis .....cuvviiiniinscvrs .. OTANISALION.
(1) 2 Level (2) 5 Level

(3) 4 Level (4) 3 Level

{5) Question not attempted

in India?
(1) 1970 (2) 1960
(3) 1978 (4) 1980

(5) Question not attempted

The difference between what we would pay 3
what we have to pay is called - -_;"'-'?

(1) Consumption

(2) Demand

(3) Utility

(9) Consumer's surplus

(5) Question not attempted

garedar  (fhetam /facaR) v 2021-22
IR gl @ g AR

(1) @Er—= (2) fareres
(3) =7ed (4) =T
(5) srgaRa v
. frw sddarell S g-Tore &1 Wi e
am fem?
(1) &= (2) FRggera
(3) o€l e (4) o
(5) srmifte v
. frafafea % 9§ @ Gen fer ' R ®
ST WEBNI TG UG Bl Be
(1) 9y R do
(2) wrafas wr |t
(3) g d%
(4) Fi=iry Wewr idw
(5) srgafta weA
(1) fgwadig (2) grg w
(3) TR wRE (4) Feada
(5) arqaita we

e H 10,000 @1 e wd T e § T8 Y
e ar?

(1) 1970

(3) 1978

(5) argafia g
Wl e B9 o § N Ol e 89 ard § &d
§ ® IR B FEd & —

(1) 9T

(2) s

(3) Suafiven

(4) ST @ @Ed

(5) seiRe ue

(2) 1960
(4) 1980
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in India for the first time in the year 20047

(1) Kelkar Task Force (2) Arun Jaitly
(3) P. Chidambaram  (4) Yashwant Sinha
(5) Question not attempted

When has Goods and Services Tax #E

implemented in India? g

(1) 26th July, 2017 (2) 26th January, 2017
(3) 1st July, 2017 (4) 1st January,2017
(5) Question not attempted

« The demand for money for speculative motive 37

mainly depends on - _

(1) Price (2) Wages

(3) Income (4) Rate of Interest
(5) Question not attempted

- Who estimated the National Income of India for 38

the first time?

(1) VKRV, Rao

(2) Mahalanobis 2
(3) Dadabhai Naoroji

(4) Gopal Krishna Gokhale

(5) Question not attempted

nr

Ul |

- “Principle of Maximum Social Advantage' is 39

based on which Law -

(1) Distribution Theory of Marginal Productivity
(2) Laws of Returns

(3) Law of Diminishing Marginal Utility

(4) Law of Equi-Marginal Utility

(5) Question not attempted

- If Marginal Utility is Zero, then Total Utility will ~ 40.

35 Who suggested the adoption of Integrated G.S.T 35 WRa & Ugah a% 2004 % fw "vafige avwg wd

AT WY A9 g e gr?
(1) e e B (2) IFY Seed

(3) M, fergwavy (4) e R

(5) argeia we

ARG H ¥ Ud qarhy w9 § an) e
(1) 26 g€, 2017  (2) 26 SF==9, 2017
(3) 1 Seng, 2017 (4) 1 S, 2017

(5) sl we

WEl SR BY HET @ A g wu 9 fnlk
Hell B —

(}) @wa (2) Forgh
(3) = (4) =115 &1 5%
(8) argafa wem

qed U e 1 aEE duem e
SR

(1) @ amed =

(2) wETEEas

(3) sremirg AR

(4) 7T FwT e

(8) argaia e

‘wfwan wmtas @ &1 g e Bgm
oY T & -

(1) faeror &1 dwia geuresar frgia

(2) uferwar & Fram

(3) ¥ria Sufivar s A

(4) st sozifiven frem

(5) srgaiRa wes

IR A SudifEr ¥ 8, o oo Syaifien
erfr —

be -
(1) Maximum (2) Decreasing o E (1) sferpam (2) sz &8
(3) Positive (4) Negative - (3) TS (4) FoToTE
(5) Question not attempted (5) srgaier wes
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41. Match List-1 with List-Il and select the right 41 gfi—1 & g1 9 FAfem Hforg Fur 4=

answer using the code given below - o ma e BT WA HY WE T W =
ot R -1
{A) White Revolution (A) he W
(B) Blue Revolution - Sy i
(C) Brown Revolution i. : {C}‘I'h wif
(D) Green Revolution (D) &ftar @i
List-11 -qgh_u |
(I) Wheat/Foodgrains Production (I) & /@ Seqres
(1) Food Processing (1) el W
(IIT) Development of Fisheries (IIT) el Ut &1 faers
(IV) Milk Production (IV) 57 Ie1E+
Code - e —
(1) (A)-IV, (B)-I11, (C)-TI (D)-1 (1) (A)-1V, (B)-I11, (C)-11 (D)-1
(2) (A)-1I1, (B)-L, (C)-IV (D)-HI (2) (A)-I1, (B)-1, (C)-1V (D)-HI
(3) (A)-1, (B)-I1, (C)-1I1 (D)-IV (3) (A)-1, (B)-IL (C)-II (D)-IV
(4) (A)-II1, (B)-IV, (C)-1 (D)-1I (4) (A)-IIL, (B)-IV, (C)-1(D)-11
(5) Question not attempted (5) argeife wes

42. Which one of the following is Canon of Public 42 fy=fafam 3 & #wn de =g &1 fyafa 87

Expenditure? e (1) Sofa &1 g
o e 8 @ e o e
(3) Canon of Coordination @) ¥ F1 R
(4) All of the above (4) Sy |
(5) Question not attempted () argerRe we
43. Which of the following is not a method of Public  43. fy=1 & & @#Fw wAwe Fo & I 31
Debt Redemption? T A 87
(1) Utilisation of Surplus Revenue (1) anfdea s &7 S9N
(2) Debt Sinking Fund (2) =01 uReies &
(3) Deficit Financing (3) E=re} wa
{4) Conversion of Loans (4) =il BT FUT=ROT
(5) Question not attempted (5) srgaite e
4. AR=MR=SMC=LMC=SAC=LAC shows the % AR=MR=SMC=LMC=SAC=LAC ERI
long run Equilibrium Position of - Arefwrel= wge wef¥ia e 8 —
(1) A Firm in recession Y (1) 5=l F o @
(2) A Monopolist Firm [y £ (2) yEIeEr wH #
(3) Perfect Competition (3) got wferaifirar o &1
(4) An Oligopolist Firm (4) areaTiyETd B @
(5) Question not attempted (5) aERe W
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45. When was Rajasthan Micro, Small and Medium 45 roreeqr e, @Y 3R W SumH (TH.0E.0E.

Enterprises (MSME) Policy -2022 released? %) ff—2022 73 ifta # 142
(1) 29th July, 2022 (1) 29 FermE, 2022
(2) 17th September 2022 (2) 17 Ry, 2022
(3) 5th December, 2022 (3) 5 femm, 2022
(4) 13th December, 2022 (4) 13 Remw, 2022
(5) Question not attempted ' :%{5} IguRa W
46. Since when the Government of India I R e gurt @ snfife weria
implemented the policies of economic reforms H i T @y, fsar?
and economic liberalisation?
(1) July, 1999 (2) July, 1992 0 Sgeme. 1999 @) g, 1992
(3) July, 1991 (4) July, 2000 @) gems. 1991 (4) FeTrE, 2000
(5) Question not attempted (8) srqaiRa we
47. Who wrote the Article “A Reconstruction of the 47 TewRiaT 9 fAvary @ aFmig “Hed T &1
Theory of Value” in indifference Curve Eﬁﬁ"lﬁ’ A o e forar?
Analysis -
(1) Wicksteed (2) Hicks and Allen Y e i g o
(3) Edgeworth (4) Johnson (3) woraet @ S
(5) Question not attempted (5) srgefa e
8. Which of the following equations was given by .":",-Lﬁﬁl Tl § | e gwr Rar T wiew
Fisher? S v &7
mP=53 mp=5
@F= H!.r+Tm.r- @P=— +TM"|F'
B) PT=MV+M'V’ B PT=MV+M'V
(@P="F P =58
(5) Question not attempted () argeile wea
48. Which of the following taxes is not levied bythe 49. Fr=fafaa % ¥ e v =0 waR gRT 78
state government? T AT 87
(1) Land Revenue (1) 1o
(2) Corporation Tax (2) Frm &
(3) Tax on Land and Building “”Lm'ﬁ@ﬁﬂmﬂﬂ
(4) Tax on Agriculture Income S5 @) P amE W aw
(5) Question not attempted ==L (9 eI wes
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50. What is the full form of NITI in context of NIT1
Aayog?

(1) National Institute for Transforming India.

(2) National Institute for Technology India.

(3) National Institute for Translating India.

(4) National Institute for Transfer India.

(5) Question not attempted

When did T 1 note first came into circulation in
India?

51.

(1) 1947 (2) 1960
(3) 1949 (4) 1951
(8) Question not attempted

Which factor is considered a major contribution
in Keynesian Theory of Business Cycle?

(1) Multiplier (2) Income

(3) Consumption (4) Acceleration

(5) Question not attempted

53. Who said that “The Theory of Acceleration and
the Theory of Multiplier are the two sides of the
Theory of Fluctuations, just as the Theory of
Demand and the Theory of Supply are the two
sides of the Theory of Value.”

(1) J.R. Hicks (2) 1.M. Keynes

(3) J.A. Hobson (4) J.A. Schumpeter

(5) Question not attempted

Match List-T with List-II and select the right
answer using the code given below -

List-I List-11
(Ist Position in India) (Crop Production
2020-21)

(A) Rajasthan (I) Total pulses
(B) Madhya Pradesh {(II) Soyabean
(C) Gujarat (1IT) Bajra
(D) Maharashtra (IV) Groundnut
Code -

(1) (A)-1V. (B)-II, (C)-II (D)1
(2) (A)-L (B)-11, (C)-III (D)-IV
(3) (A)-III, (B)-1, (C)-1IV (D)-II
(4) (A)-I1, (B)-IV, (C)-1 (D)-II
(5) Question not attempted

50. ifey amarT & w=d ¥ N T ger v 7T ¥
(1) “reFa g~Liege B el gisar
(2) F3Fie FEIEgE B STl gl
(3) F9E FEICE R et g
(4) SeTel FRICYT BR SIEHY Fived
(5) iR wed

@ 1T @7 A1e ARE § Usell AN $a wEdA # e

(2) 1960
(4) 1951

" (1) 1947
(3) 1949
(5) sreRa wes

52. Fi=y & aIR-uw g ¥ v arer few
v &1 AT I 87

(1) [oreh (2) arma
(3) IgaTT (4) =S
(5) areie w9

83. farwe wer o 6 “eave fhgia v@ 7o g
Tt @ fagta @ 81 o 99 yeR E O
5 g Rygfa & < uw = fygra ofiv gf
fga &1

1 (1) wamR. B (2) 5.g9. B
o (3) A, Efer @ 9y, gefex
(8) 3rgeiRe we
54. -1 3 gA-1 A gaferm Fifg T A
fad A e & FE AR EE I g -
-1 w11
(e # v W) (A SR
2020-21)
(A) TSI (T) e &l
(B) Meawael (Ir) HrardE
(C) o (II1) AT
(D) HERTS; (IV) et
akf e
(1) (A)-1V, (B)-IIL, (C)-I1 (D)-I

(2) (A)-1, (B)-11, (C)-I1I (D)-IV
(3) (A)-I11, (B)-1, (C)-IV (D)-1
(4) (A)-11, (B)-IV, (C)-1 (D)-II1

(5) srgafte wes

UL

o
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55. Which of the following factors determined the

demand for money according to Milton
Friedman?

(1) The General Price Level

(2) The total output of goods and services

(3) The current Rate of Interest

(4) All of the above

(5) Question not attempted

1"k
The New National Population Policy of [nggﬂ-

was declared on -

(1) 2nd October, 1991 (2) 15th August, 2014
(3) 15th February, 2000 (4) 15th June, 1977
(5) Question not attempted

in the Indian Money Market?

(1) Dichotomy

(2) Differential Rate of Interest

(3) Lack of Bill Market

(4) All of the above

(5} Question not attempted

Which one of the following features is got .58
related with product differentiation? E‘gf
(1) Trade Mark (2) Price Tag

(3) Design (4) Patent

(5) Question not attempted

35. fees wreh & agER =1 # 9 S9a uee

- Which of the following characteristics is found 57

qET o AT B Pl wwar 22

(1) 9P FWa w®R

(2) wgall va Hanell BT B I

(3) yafera &1t &%

(4) Iugar it

(8) argeile wee

HRd @ T4 A S A ot g -
(1) 2 aeay, 1991 &7 (2) 15 37T, 2014
(3) 15 wYad, 2000 H7 (4) 15 5, 1977 B
(5) srala we

frefefea 4 4 e Remat arda g3
AN F aTg Wy 27

(1) fEenfan

(2) =it &%) | f=ran

(3) e TR &1 amE

(4) SRR T

(8) srrafRe wem

Frefafaa 4 2 A fews o) AT ?
W Téf 87

(1) 22 7@ (2) = P
(3) fE&wrzA (4) 2=
(5) srmiRe weA

 When the foreign investment limit in Indian 59 Wy drr wwfet & fash Rfaer @ dm
Insurance Companies was raised from 26% to 26% ¥ TITHT 49% B & TA?
92
i () orad, 1999 (2) R, 2000
(1) January, 1999 (2) December, 2000 5
(3) January, 2001 (4) December, 1999 ® . 2001 (9) "W, 1999
(5) Question not attempted (8) srgela we
60. The difference between Average Revenue and 0. afrwer e 9 sftvre uRedweiie @G &7 e
Average Variable Cost is called: HEATT € —
(1) Contract Rent (2) Scarcity Rent (1) wwfdeT &= (2) gebyar &TA
(3) Economic Rent  (4) Quasi Rent @ (3) anffes s (4) 3mmE S
(5) Question not attempted - - (5) olta we
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61. Maximum Social Advantage point is when:

(1) Marginal Social Benefit is greater than
Marginal Social Sacrifice.

(2) Maximum Social Benefit is there.

(3) Equality between Marginal Social Benefit

61. yyman wmIfs o @1 fag g & 99 —

(1) i wrfore o diEia |rEfes & 9
ST B

(2) araifors @ sfEad 2

(3) o8 Hwta wmfore o o dmia s

R § {ET 8
(4) wrarfors @mT <EaY 8|

150

and Marginal Social Sacrifice is there.
(4) Minimum Social Sacrifice is there.

(5) Question not attempted o (5) argeiie weA
62. In which condition a consumer gets maximu us gudn e Rufe # sfteas wfe e
satisfaction? HT B?
(1) MU, < MUz _ MU; (1) MU, < MU, < MU;
Py P P Py Pz P3
(2) MU, S MU, _ MU (2) MU, _ MU, _ MU;
Py Pz P3 P Pz Py
(3) MU; _ MU;  MU; (3) MU, _ MU, _ MU
> = 1 2 3
Py P2 P3 Py = Ps 2 P3
(4) MU; _ MU, _ MU, (4) MU; _ MU, _ MU,
P‘.i P2 P3 Py - Pz =3 P3
(5) Question not attempted (5) arafa wes

63. Which of the following is the function of Capital 3. Fr=iforfem # & ol iR 1 H1 Fww 27

Market? (1) gt forefor
(1) Capitul formation (2) =t 1 afrwan Sy
(2) Maximum Utilisation of resources @ Sefvar =1 RoE
(3) Development of Entrepreneurship
(4) All of the above e ) SR W
(5) Question not attempted E'? (8) s e

4. Which of the following is an economic demerit . Prafafes ¥ 4 921 o1 anftie < Faar 27
of money? (1) siferdsiieyer ¢F &ty Seares
(1) Over capitalisation and over production (2) qoftare ot AR wErE B
(2) Strengthens capitalism @) 551 31 @R 79 S
(3) Money became Master
(4) Al of the above WAl
(5) Question not attempted (5) sreiRe we

- “The investigation into the nature and principles
of state expenditure and state revenue is called
Public Finance.” Who said this?

(1) Chapman (2) Armitage Smith

(3) Dalton

(4) Plehn ls',\l::
(5) Question not attempted -

- I A T S 3 P US g

fgial &) e F1 de—fag $el W &1 U8
e wEr?

(1) Hrof= (2) anfdes fRmy
(3) Sfeed (4) wie
(5) sreife ge=

63-@D
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86. Out of 237 Municipal towns, ‘Master plan’ for  66. 237 =fftve Fw@l # & e Tl & TorerH

how many towns have been prepared and WHR FR AR S 4R U9 ®ed 7
approved by the Government of Rajasthan? fed m &7
(1 151 (2) 217 (1 151 (2) 217
(3) 189 4) 177 oY) (3) 189 4) 177
(5) Question not attempted QL% (5) ey
67. Who propounded the ‘Big Push Theory' - aifths A & ‘vaw gae Rigre @ e
economic growth? wierfas fasan &7
(1) Prof. P.N. Rosenstein Rodan (1) 1. f o= et
(2) Prof. J.8. Mill (2) w0, Sigw. e
(3) Prof. Stigler (3) . Rewrer
(4) Prof. Nurkse (@) 5. T
(5) Question not attempted (5) srgeila v
68. When the NITI Aayog came into existence? B8. ifty smarT w9 afaw # ama?
(1) 1st January, 2015 (2) 26th January, 2015 (1)1 59, 2015 (2) 26 w8, 2015
(3) 1st March, 2015 (4) 1st July, 2015 (3) 1 #rd, 2015 (4) 1 S, 2015
(5) Question not attempted (5) srgeifea weA

69. Which of the following concept of money suppl)I 'E' * g A gE1 g @ Preeifea 4 @ S
£ SR WA HET FEAT 82

in India is called narrow money?

(1) My (2 M, (1) My (2) M,
(3) M (4) M, (3) My (4) M,
(5) Question not attempted (5) srgmRa we
70. If the nominal rate of interest is 11% per annum  79. 37 &w & $R2® =@ 119% afdes e
and the inflation rate is 8% per annum, then what B & gY 8% Wfis & & @ @
will be the real rate of interest? arfa® & g geft?
(1) 5% (2) 1.375% (1) 5% (2) 1.375%
(3) 3% (4) 19% (3) 3% (4) 19%
(5) Question not attempted (5) s 9o
1. Which Economist criticized that “Multiplier is 71 "o &= & Rigra &1 Rftsas am 21
the fuzziest part of Keynes' Theory"? &“": I e e aptareh 3 & &2
(1) JM. Clark - (2) Stigler = () SyE. e (2) Revraw
(3) Robbins (4) ).B. Say (3) Ffa= (4) @
(5) Question not attempted (5) argafia we
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72. Harrod Model of economic growth does not 72 e Remw &1 & dfea 39 REraR #
assume the idea of - el A -
(1) Warranted growth rate (1) wefdrer Fepre o
(2) The Natural growth rate (2) wrpfers fawmt <X
(3) Actual growth rate @) arefas fawr &3
(4) A minimum growth rate (4) =g A
(5) mﬂ not attempted (5) SR e

73. Wh of shape does Becker's Fertility curve 73 9% WoI a9 @ IPhT fFq yw @ Eh
has? 27
(1) L. Shape (2) Round shape ) ye SR @ (@) TR
(3) Tnverted U shape  (4) U Shape (3) I US PR B () US SR Pl
(5) Question not attempted (5) srgeila e

74. “The Kinked Demand Hypothesis Curve” was 74 “Rgfera =i @ oR@ew a” fbud g™ @
given by - T
(1) Edgeworth (2) Chamberlin (1) gl (2) wraier
(3) Sweezy (&) Hotelling @) = ) grefem
(5) Question not attempted (5) SrFTRa e

75. Under the aegis of ‘Invest Rajasthan Summit 75 afgg@y, 2022 % gy # omifm ‘gewe
held in October, 2022 in Jaipur, how many IroTeeT Ofte & o § yded &9 ¥ fFA
Mem{:{a_ndum of Un::lcrstandings (MoUs) in T 75 (MoUs) TY BEamR fad a7
To tor were signed?
m'fﬁ@ i ) 372 (2) 450
(3) 251 (4) 426 ) 251 (4) 426
(5) Question not attempted (8) areriRa we

" 76. Which of the following tax is not levied by the 76 Fy=ifaifam # ¥ BT B DG DR G/

Central Government? SRl A S’
(1) Wealth Tax on Capital value of Assets (1) wuferl & goiiTe Jei WS-
(2) Tax on Agriculture Income (2) B a1 9 B
(3) Customs including export duties (3) Frata yew wiega A U
(4) Corporation Tax (4) s @R
(5) Question not atempted (5) rgeTive U

77. How many Primary Health Centres are being 77 wrdwte ol aEEm® |91 (PPP) T W™
operated on Public Private Partnership (PPP) # ey urufas wrREn # 9l ol w
;I:]D:E in Elu;asthan‘.“ (As per Economic Review (2022-23 #) nifE T ST
(1) - @ 21 (1) 27 (2) 21
(3) 24 (@) 18 (3) 24 (4) 18
(5) Question not attempted (8) Frgeiier o
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78. Which one of the following activities is not 78
concerned with Public Finance?
' (1) How to allocate finances among different
departments?
(2) How 1o distribute subsidy among neegdy!:" .
people?
(3) How to share tax burden among the people?

!

(4) How to collect more revenue?
(5) Question not attempled

78. The availability of credit will decrease if - 79.
(1) Bank Rate is increased
(2) Cash Reserve Ratio (CRR) is decreased
(3) Statutory Liguidity Ratio (SLR) is decreased
(4) None of the above

(5) Question not attempted

Ii B0. Who first presented the Concept of Multiplier in 30‘
| 19307 ‘ﬂ-"li-l :
|

frafafas 4 9 @90 PRl el @

wafa 81 87

(1) faf= Rt @ fra faer 37 andes $9 &7

(2) revee aiftvdl & 49 e B RaRa
HE?

(3) it @ 4G B AR B DB Fdie?

(4) siftrer ToTE @1 HUAGY DY HY?

() s v

| @ IuErn | & e gl -

(1) 4% =x ¥ gfg & 2

(2) sim FEEI (CRR) # & 1 St &

(3) denfives X FIWIATT (SLR) # #4011 oI
2

(4) gudas # | Big 7€

(5) argafta uea

1930 ¥ VT ) AR WA TEel fHH W

G

(1) i (2) Siga. #r

! (1) Pigou (2) J.M Keynes
!. (3) R.F. Kahn (4) Robertson (3) a.U%, @A (4) FadwA
I' (5) Question not attempted (5) srgeiftel Hei
-\ B1. Rajasthan Film Tourism Promotion Policy 2022 81. Srorearr e gfRw siier difere 2022 wrsu
has been implemented in the state on - # frmfaa o 78 —
(1) 18 May, 2022 (2) 30 November, 2022 (1) 189, 20229 (2) 30 o=, 2022 9
(3) 8 October, 2022 (4) 18 April, 2022 (3) 8 arear, 2022 ¥ (4) 18 3, 2022 |
(5) Question not attempted (5) argeiRa wes
82. A Principle propounded by Dr. Dalton is - 82. g sroes g wimfEa faga & -
(1) Principle of Minimum Aggregate Sacrifice (1) =pan wmifes @ R
(2) Principle of Maximum Social Advantage .~ (2) aifywed 6rfe @ & firgia
(3) Principle of Economy ﬁ (3) farereran =1 fagia
(4) Principle of Minimum Taxation (4) =am & faaia
\l (5) Question not attempted (5) argeife W
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83. What was the main objective of demonetization
in India?
(1) Reducing the number of notes
(2) Curbing black money
(3) Increasing production
(4) None of the above
(5) Question not attempted

84. In July, 1991 during the economic liberalisation
nrogramme who followed the concept of “Laffer
Curve™ for reforms in taxation systems in India?
(1) Vijay Kelkar
(2) Dr. Man Mohan Singh
(3) Dr. Montek Singh Ahluwalia
(4) M. Narasimham
(5) Question not attempted

835. What does Government intend by Public Private
Partnership Model?
(1) Infrastructural Development
(2) Globalisation
(3) Agricultural Development
(4) None of the above
(5) Question not attempted

B6. When tax which is paid by one person but the
burden of which is borne by another person, is
called -

83. wre A fgdieve &1 g sty w9
(1) et 3 He=m § F9 &

(2) FrAEr U= @Y AT
(3) Seqres @
v ) TR A | B e

@(ﬂ@ﬁam

84. avg A Soie, 1991 # anffe SENeRwr B
®EH & IRE F-AOTN H GUR g wa9
UE "GN B AR HT AT
foam a?

(1) i seaw

(2) 2. #=E fe

(3) <. #idw fiz smeeEfem
(4) v eRpEn

(8) srgaRa v

85, wrvifA® ot wewifiar dfed @ #nam A
PN B AT FT 87

[t"l-{ﬂa-ﬁﬂi‘l"x'ﬁ?ﬂﬁﬁm

r(2) dedimwor
(2) Ff RPm
(4) gueres # 9 w1 =9
(5) argeri™e v

86. vla & fdll te =i g™ gomEr @ 2
I IHEHT AR THY Wi gRT g8 fbar s
8 W FEE -

(1) Degressive Tax  (2) Indirect Tax (1) Frrf v (2) srueer &Y
(3) Progressive Tax  (4) Direct Tax (3) wrferefier & (4) ucasy &2
(5) Question not attempted (5) srgafa WA
87. Which district of Rajasthan had the lowest 87. 2011 ) T=79FT & IFER oI & FHY
literacy rate according to the Census 20117 forel o wad &9 wENEr =X o417
(1) Sirohi (2) Banswara sl-l. 1) Rrrer (2) gierars
(3) Jalore (4) Pratapgarh 3) SR (4) wanTe
(5) Question not attempted (5) srgaiRe weA
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B8. Fisher's Definition of National Income is based 88
on -
(1) Distribution (2) Production
(3) Employment (4) Consumption
(5) Question not attempted
89. A significant reduction in aggregate economic
activity is known as -
(1) Recession (2) Prosperity
(3) Recovery (4) Full Employment
(5) Question not attempted
90. Who presented the idea of Specific Tax 90
Incidence and Differential Tax Incidence?
(1) Mrs Ursula Hicks
(2) Pigou
(3) Richard A. Musgrave
(4) Dalton
(5) Question not attempted
91. “The problem was not of black money but of
political and administrative nexus.” Who said it?
(1) Arvind Subramaniam
(2) Raghu Ram Rajan
(3) Parsi Mistry
(4) Dr. Man Mohan Singh
() Question not attempted

92. Which of the following is not the objective of

fpeR g1 € S W= g 1 gfamer smnfRa
s _

(1) o = (2) Feurea W
(3) IR W (4) IomT O
(5) srgiiRe we

?_-‘wmﬁiwﬁsm#ngﬁt;ﬂfwm‘fmm

[Egﬂ P LRI

@ wife
(3) groeR (4) gof IR

(8) e weA

faf¥re @ vd fiees Suum & RER
frae wwgm foear 27

(1) St s fRew

(2) drg

(3) Res gwadd

(4) T2

() s wed

91. “yww @Tell HaT @1 A6l o, afed IS @

1"k

ToaH & M| T8 e HEr?
1) afa= gawvaH
(2) Ter e
(3) ot e
(4) 2. weries fiE

(5) il e

92. fysfarfad § & e G FoT H S8y

Public Debt? 81 87
(1) To make provision for social services. (1) wfor Jawil &g W HE |
(2) To face emergency conditions. (2) JITaHTel AT BT AT BT |
(3) To meet current expenditures. (3) =gy, Eﬁﬁ 1 HRUTE T |
(4) To funding for development projects. @‘“ famm aRdorEsl & oy S Ser |
(8) Question not attempted 18) s W
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93. In which of the following sectors, there was 3. Yrwwym @) Iwed] Yaadfy dioen & F=ifea
maximum proposed outlay in the XII Five Year &= &t uv aftreaw oReyy wenfae o

Plan of Rajasthan? e
(1) Energy : () it
(2) Agriculture & Allied Services oo (2 PR 0F wEE e
(3) Social and Community Services ﬁ (3) T vd wreTs dard
(4) Rural Development (4) arfior R
(5) Question not attempted (8) srgala we
94. Under Mahatma Gandhi National Rural 94 mgrr Tl g apdior Y9 R, TR Do
Employment Guarantee Scheme (MGNREGS) (MGNREGS) @ arifa s fadiy a8 & fres

at least how many days of guaranteed wage e 1 TROE AoTEd AR S URAR @

employment in a financial year to every

household is made available? SUGTE FREART AT &7
(1) 50 days (2) 125 days (1) 50 fa= (2) 125 f&=
(3) 100 days (4) 300 days (3) 100 &5 (4) 300 fas
(5) Question not attempted (5) s we
95. Speculative demand for money depends upon -  95. HzT 9% Weer AT g w Felv ad) 27
(1) Income Level (1) g ¥ W
(2) Rate of Interest L 4 B | R
(3) Both 1 and 2 f’ (3) 1 7d 2391 w®
(4) None of the above (4) S # & wid =
(5) Question not attempted (5) Gi!ﬁ?l‘ﬂﬁ ¥
96. Which of the following explains the concept of  96. fyp=iforfas % & #1=0 My sEuamw &1 wWe
Ma? Tl 87
(1) M4 =M; + Time deposits of Banks (1) Ms =M; + 357 ) Fraft s
(2) Ms = Ma + Currency with people (2) My = M3 + 5701 & 919
(3) M4 = Ms + Total Post Office deposits (3) My = Ms + SHERf @ @l o1
(4) My = M3 + Currency with people + Total (4) My =Mz + T & UTH 01 + a1 &
deposits of banks A T
(5) Question not attempted (8) srela we
97. “Only the development of Co-operationisinline  97. "@as Wedliar &1 fAsm & wuoErR F
with Socialism”. Who said it? s‘_f e 21" 78 e @8
(1) V.S. Bhide (2) H. Calvert - () drgw. fre (2) va. Hae
(3) J. Bailey (4) Lenin (3) ot ¥=h (4) af=
(5) Question not attempted (5) arafea wee
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98. The Poverty Ratio in Rajasthan for 2011-12 (As
per Tendulkar Methodology) was -
(1) 20.9 percent (2) 10.7 percent
(3) 14.7 percent (4) 19.9 percent
(5) Question not attempted
99. Which of the following types of Unemployment
is generally found in Rural India?
(1) Open Unemployment
(2) Cyclic unemployment
(3) Disguised Unemployment
(4) Frictional Unemployment
(5) Question not attempted
100. The main feature of public finance is -
(1) Expenditure for direct benefit
(2) Balance between demand and supply
(3) Mobilisation of resources according to
expenditure
(@) Expenditure in accordance with income
(5) Question not attempted
101. When a person deliberately pretends that he is
not liable to pay tax and cheats the government
by concealing facts, this act is known as -
(1) Incidence of Tax  (2) Impact of Tax
(3) Tax Evasion (4) Shifting of Tax
(5) Question not attempted

102. Who said, “Inflation is unjust and Deflation is

98. 7§ 2011-12 @ forg yromer # Fefar s

(geree R & sawR) a1 -

(1) 20.9 ufde@a (2) 10.7 ufdere
(3) 14.7 uferera (4) 19.9 gftrera
(5) st wed

99. fpafafag # | S avrsR aeT ar)

[Ié.d:i-"; & § wmraaar we o 87

(1) Fgeft AR
(2) = AT
(3) wew= ARSI
(4) areer] SRS
(5) srreiftE wed
100. Frwfaey &1 g0 e & —
(1) weger @™ &g @9
(2) 7 vd off & dva Hgad
(3) o @ HFHY HHEF] BT S
(4) 3 & w4

1"

[ﬁ{smgﬁﬁam

101. 57q vs <Ifts WFgedY @811 #eal & 6 &
TH BT UG PI§ N Tl den 3R T
P GUTHY 98 VYA W SRS Bl & a1 59

FY B P E —

(1) F—R (2) e
(3) HY g9 (4) w2 fagda
(5) srerive we

102. 757 wfY Yl ® T R S

inexpedient”? SugaT & 1" a8 duA st 27
(1) Keynes (2) Marshall (1) @8 =1 (2) arsiet &
(3) Crowther (4) Pigou (4) gy a1

(5) Question not attempted

E (3) HIIUT F
(8) srEiRe weA
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103. In which Scheme of the following all the 33

districts of Rajasthan state have identified the
products with export potential from their
respective districts?

(1) One Nation One Election

(2) One District One Product

(3) One Rank One Pension

(4) One Nation One Ration Card

(3) Question not attempted

104. What type of demand for factors of production is

found in an industry?
(1) Derived Demand  (2) Direct Demand
(3) Composite Demand (4) Joint Demand

(5) Question not attempted

105. The formula of Percentage Method to measure

price elasticity of Demand is -
M gd = (-)2x %
@ ed=(-)ox g
®) gd = {—)E X3
W Ed=()2x 3

(5) Question not attempted

106. In Sustainable Development Goals (SDGs) India

Index (3.0), Rajasthan got 60 scores in 2020-21.
In which one of the SDGs, Rajasthan showed
maximum improvement?

(1) Gender Equality

(2) Affordable and Clean Energy

(3) Quality Education

(4) Life on Land

(5) Question not attempted

103. By & @ fpm Ao @ arala voeee ey

@ w33 foral &1 Fafa et & a
g% g el § aarel 9 ggae i ard
27

(1) g% I UF gAa

(2) v foren v goug

@ﬁ}w%wﬁm
) U W% U IS
(5) arwRE e
104. g 3 % Ieaeq & HEEl A A0 Y g
o1 BRfY 87
(1) ggeg=1 =1 (2) weaey APT
(3) wrfe® Wi (8) S |
(8) sr=feilRe wes

105. 5 &% @ia e & A @ wfwa R

-
‘"Ed:(—)%xgg-

 Ed 9
Lo DR

ap

O b= (2

W Ed=(-)2x2

(8) sigwile wes

106. wyerey faeret @ wedll (SDGs), WA ISP (3.0)

# 202021 % IR ¥ 60 BT TR T B
o1 59 s wog RAew w@eg (SDG) A
I | o gur yelia far

() f&r s

12 1 (8) qfy T o

(8) siailRe we=
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107. At present the ‘Integrated Wasteland 107

Development Programme’ (IWDP) is being
implemented in how many districts of

Rajasthan?
(1) 26 (2) 33
(3) 10 (4) 18 l:ii"E
(5) Question not attempted
108.

108. Who propounded ‘The Theory of Unbalanced
Growth'?
(1) Alfred Marshall  (2) W. W, Rostow
(3) 1.B. Say (4) A.O. Hirschman
(5) Question not attempted

108. On what approach NITI Aayog functions? 109.

(1) Top to Bottom approach
(2) Bottom up approach

(3) Parallel approach

(4) None of the above

(5) Question not attempted

110. 110.

*The Tax whose burden is borne by the person

on whom it is levied’, is called -

(B) Impact and Incidence of Tax Ijﬂ-‘l"l.:
(C) Shifting of Tax

(D) Evasion of Tax and Avoidance of Tax
Select correct answer with the help of codes
given below -

Code -

(1) Only (C) (2) Both (C) and (D)

(3) Only (A) (4) Both (A) and (B)

(5) Question not attempted

NNP at factor cost differs from NNP at Market

Price by the amount of -
10T
£

11 1.

(1) Current transfer from the rest of World
(2) Depreciation

(3) Net Indirect Tax

(4) National Debt Interest

(5) Question not attempted

goaE H wfaa o 9 e sdwe
(IWDP) ¥roreer= @ e foraf # aeman o war
87

(1) 26 (2) 33
3 10 (4) 18
(5) argeifa wes

‘Fwgfera fAem @1 fage e afmfRe
farar?

(1) s Areie
(3 s |
(5) argeila wes
#ifer amavT fg wemm W s wvar 27

(1) Sux 9§ 19 @) 3R vwrH

(2) 9 9 HUv A AR TUEH

(3) THFTR YeATTH

(4) Swrs # | P T

(8) srgeilRa we

fora afts W o~ oo wen &, 99 & v AR
8T Y1 BIOT B, O 59 PEd & —

(A) UeE &

(B) FY F1 9T UF AR

(C) F—faad=

(D) Fe—an 3w T ofeEr

w9 A T g @ wEEar ¥ 66 ST @6
g9 HfAT —

(2) T ey, IEE
(4) vai. gstim

E‘-

(1) #a (C) (2) (C) = (D) BT
(3) Fae (A) (4) (A) Tenm (B) g1
(8) rgafa v

I FETAY o8 NNP @7 a5 $iAdf o) NNP
# = of¥ &1 s B & -

(1) 919 FER & wre ", FEae

(2) seugr

(3) & e F

(4) wrsftg ol o &

(8) gafe ww
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112, Which of the following canons was laid down by
Adam Smith?
(1) Canon of Elasticity
(2) Canon of Certainty
(3) Canon of Productivity

12. fpsfafga fraidt & | @9 frala ven fa
g1 yfomfen fean mn?
(1) arerfieran &1 faeia
(2) Ff¥aear =1 fagia
(3) weargmar @1 faam

(4) Canon of Simplicity ek (8) sivern @1 Regia
(5) Question not attempted s'ﬁ._r (5) srqalRe we=

113. When did T 10000 note came into circulation fo
the first time in India?

(1) 1961 (2) 1947

(3) 1950 (4) 1938

(5) Question not attempted

If the Marginal Propensity to Consume (MPC) is
(0.8, then the value of the investment multiplier
will be -

(1) 4 (2) 2

(3) 5 (4) 8

(5) Question not attempted

114.

115. As per Advance Estimates during 2022-23 year,

(2011-12) is -

Per Capita Income in Rajasthan at Constant Pricg, ;. .,
i &E osnx

113, 100002 7 e =T H Ugeh AR B4 yae A
(1) 1961

(2) 1947
(3) 1950 (4) 1938
() srgeiie we
14, 7y e ST wgfy (MPC) 0.8 &, & Fram
oI BT —
(1) 4 (2) 2
(35 (4) 8
(5) areilRe e

NS, i Al & AR g4 2022-23 4§ Wi
# fRer Teat (2011-12) W wfy @fdw g & —

(1) 2) (2) 74000%
1)T75232 274009

3 4
(3) T 86,134 (4) % 79.993 (3) 86,134 (4) 79.993%
(5) Question not attempted (8) srgaider WA

116.1n 2022-23 over 2021-22 at constant prices
(2011-12), the industrial sector of Rajasthan
witnessed the growth rate of -
(1) 9.16 percent (2) 6.32 percent
(3) 9.10 percent (4) 4.99 percent
(5) Question not attempted

117. When was the Monetary Policy Committee
constituted to determine Monetary Policy in
India?

(1) 30th September,2017

116. =i o 2021-22 w i a9 2022-23 4 feR
"l (2011-12) W IoE & Sienfis a3 A

gfg T 7ol @ B

(1) 9.16 ufererg (2) 6.32 uferera
(3) 9.10 wferer (4) 4.99 uforera
(8) arfeie wea

N.9ma § #fes Hfa & Fuko & R it
+ifer wffey ) wemoen @A gg?
(1) 30 fyera, 2017

(2) 29th September, 2016 i_.,u_'.- (2) 29 Ry, 2016

(3) 29th September, 2017 Z o (3) 29 Ry, 2017

(4) 30th September, 2016 (4) 30 v, 2016

(5) Question not attempted (5) argaRe ue
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18.“A tax is a compulsory contribution from the V8. '&w ted W afFad sivem 2 N woR
persons to the government (o defray the expenses aifthl @ 9 @Al @ U & fore age e

incurred in the common interest of all withuul:__l" & W1 9 fRa 9 ) @ &) sae e
reference to special benefit conferred.” who said™** ' ™ foei R @y 2 wifts @ = ran | ¥ fewm
it? HEl AT?
(1) Adam Smith (2) Plehn (1) v e (2) @E
(3) Seligman (4) Dalton (3) wferms (4) Breen
(5) Question not attempted (8) srafta wel
119. In which Five Year Plan the objective of poverty 119 @l duadia divn § Feaa-s=@m &1
alleviation was accepted? SEw & w9 H wWen fear e
(1) 4" Five Year Plan (1) aged gaadta A
(2! 6™ Five Year Plan (2) oY ggadia A
(3) 5" Five Year Plan | (@)t e 2o
(4) 2" Five Year Plan (4) fasir daadta e
(5) Question not attempted (8) arqeifta uvs

120. By the Environment Department of RajasmE;.v!T-W & ghiERvl faE g™ 99 202223
awards have been given in the Session 21)22-2?:-: : farea e faa o S o REPTY fau

in three categories on world Environment Day.

The name of Award is - 3 S 1A E —
(1) Indira Gandhi Paryavaran Puraskar (1) g e waferor gewsr
(2) Rajeev Gandhi Paryavaran Sanrakshan (2) wrofg Wi oateRer R qREER
Puraskar
(3) femrerm &fta v
(3) Himalayan Green Award
(4) Indira Priyadarshini Vriksh Mitra Award (@) g fraee g s qreen
(5) Question not attempted (5) segeife wes
121. “There is really no opposition between Micro 121 “arerg % aufte sfiv wafte spfore § &2 R
and Macro economics. Both are absolutely vital 481 #| S s savs # At e e #l
and you are only half educated if you undmtﬂnﬂ e # ollv TR W omfis ved At am
the one while being ignorant of the other.” Wha ;| B Pt vt B
said it? '
1
(1) Prof. Keynes (2) Prof, Chambetfin i i (@) 3. e
(3) Prof. Pigou (4) Prof. Samuelson (@ 1. g (4) w1, FEe
(5) Question not attempted (5) sigeifva we
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122. March List-I with List-Il and select the right 122- -1 &1 Y& & gafera Siford aur i 73

answer using the code given below — T F{E T 44T IR GE I gAT -
List-1 -1
(Classification of Taxes) f-é] (@t 31 7o)
(A) Proportional Tax T (A) s TR
(B) Progressive Tax (B) wifereirel @
(C) Regressive Tax (C) wfermdt v
(D) Degressive Tax (D) STl FR
List-TI w11
(Meaning/Nature of Tax) (sref /@R WY wpfa)
(I) When all incomes are taxed at a single (D) w19 Wt 37l oY UF & WA 9 W @
uniform rate. ST S 8 |
(II) The rate of tax goes on increasing with the (IN 78 F foraa! &= o # gfe & wu—aw
increase in income. Fget o &
(I1) The rate of tax goes on diminishing with the (D) 7% ¥ foreen =¥ o ¥ gfe & W ged)
increase in income. . W T |
(IV) The rate of tax mildly progressive with 7+ r(IV) T8 I Rrwahl =¥ o & gfay & Wy e
increase in income. wfr &/ T 81
Code - we -
(1) (A) -1V, (B)- I, (C) - 11, (D) - 1 (1) (A) -1V, (B) - III. (C) - 11, (D) — 1
(2) (A)-1I1, (B) - L, (C) - IV, (D) - III (2) (A) - 11, (B) - I, (C) - IV, (D) - 11
(3) (A) -1, (B) =11, (C) - I, (D) - IV (3) (A) -1, (B)~II, (C) - 1II, (D) - IV
(4) (A) -TII, (B) - IV, (C) - L, (D) - 11 (4) (A) -1, (B)- IV, (C)-L(D)-1I
(5) Question not attempted (8) srgeifRer W
123. When was the Rural Landless Employment 123. 371 fids Iome TR @rdies o4 49
Guarantee Programme started? garr?
(1) 15th August, 1983 (2) 15th August, 2000 (1) 15 s, 1983 (2) 15 ST, 2000
(3) 15th August, 1947 (4) 15th August, 1984 (3) 15 3rT¥a, 1947  (4) 15 3T, 1984
(8) Question not attempted Foq @ Fafa v
124. When World Environment Protection Day 1;4“-;!;" T % waiawel faam g fren watEwe

celebrated each year through District wfafeat & wreaw ¥ favg gafawor fRgw @

Environment Cnnﬁ:mit{m by the Environment s AT

Department of Rajasthan?

(1) 25th December  (2) Sth June (1) 25 R (2) 5 5

(3) 22nd April (4) 16th September (3) 22 3l (4) 16 fyomax
(5) Question not attempted (5) srgoive we
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125. When Board for Industrial and Financial
Reconstruction (BIFR) was established?

(1) January, 1987  (2) January, 1935@
(3) January, 1991 (4) January, 1995 %%

(5) Question not attempted

126. Who wrote the Anticle “Development and
Population™.
(1) T.R Malthus (2) Robert Cassen

(3) A.C. Pigou (4) Alfred Marshall
(5) Question not attempted

127. The concept of Poverty in India relates to -
(1) Minimum level of living
(2) Maximum level of living
(3) Luxury level of living
(4) Reasonable level of living
(5) Question not attempted

128. When was Integrated Rural

Devel»pﬁ
Programme Launched?

(1) 2nd October, 1990 (2) 2nd October, 1975
(3) 2nd October, 2000 (4) 2nd October, 1980
(5) Question not attempied

129. Which of the following institution provides
credit to small scale industries?
(1) IDBI (2) IBRD
(3) IFCI (4) SIDB1
(5) Question not attempted

130. What is not true about Goods and Service Tax
(GST)?

(1) Exports are not treated as zero rate su
(2) 1t is levied only on value addition. :‘?:': :
(3) Burden of this tax is borne by the ultimate

consumer.

(4) GST is an Indirect Tax.

(5) Question not attempled

125, sivenfie va facim gafmior @ (BIFR) &
T @ g ofi?

(1) w=radl, 1987 (2) Si=ad), 1985
(3) S, 1991 (4) w=Ed, 1995
(5) argaifa we
126. ‘fagre U9 wEEET e o e feran?
(1) 3R wewrw (2) Y€ HaA
(3) Tt i (4) sresws Al
(5) argeiRer e

127. yra 3 T B SR @ W § -
(1) =69 Silas wR |
(2) sfermem offg wR |
(3) faenfamel Sias w9
(4) Sfea oies @ A
(5) srgafe we
128. wwfae aritor fawr srimy Ha o faar 1ar

(1) 2 srereav, 1990 (2) 2 apEcEy, 1975
(3) 2 Fragar, 2000  (4) 2 HygEs, 1980
(8) srgoiRa wes

129, fymifoifae 4 & @il Hvern oy e &1 |
WG Yl &7

(1) g € diang. (2) arg A amd.
(3) ame uw ¥ang. (4) frsd)
(8) srgafia ue

130. g% vd Har & (oadl) & a5 @ g

el &7

(1) Frafel @t s &% arelt amgfed =& A o
gl

(2) 7 wad Hou Waga W & aar wnan ¢ |

(3) g0 &Y &1 9K aife IuHEE gWT 98 fda
W 8

(4) Sioudl P IwcHE W &

(8) rpeiRer W
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131. What growth rate has been achieved (amended)
in the XII Five Year Plan of Rajasthan?
(1) 7.7 percent (2) 6.4 percent
(3) 5.4 percent (4) 6.0 percent
(5) Question not attempted
132. Which of the following is not an instrument of
money market?
(1) Treasury Bills (2) Bill of Exchange
(3) Debentures (4) Commercial Papers
(5) Question not attempted
133. “The General Theory of Employment, Interest
and Money” book was written by -

(1) Robertson (2) A.M. Phillips

(3) Karl Marx (4) J.M. Keynes

(5) Question not attempted Cae'r
134. When was National Stock Exchange

incorporated?

(1) 1990 (2) 1992

(3) 2000 (4) 1980

(5) Question not attempted
135. Which of the following is a primary function of
Money?
(1) Standard of Deferred Payments
(2) Store of Value
(3) Medium of Exchange
(4) Transfer of Value
(5) Question not attempted

India.” Who said it? Y

131, gredi vogadiy g 4 weeE §ogfE w®
(wefer) fveei v @ o w87

(1) 7.7 wftrera (2) 6.4 ufeeE
(3) 5.4 uftrer (4) 6.0 uftrera
(5) arqafia wes

132. fyifthey § & 19T HE—AT9N &1 JUSHIT 8l
-84
(M) g1 faw

(2) faffma fas
(3) oS (4) amie va=
(5) srmfa v

133. "R, <t 3 qE & 9 g gwe
e ot of1?

(1) Fraca= (2) v, foferss
(3) Fret HrF Y (4) W.uH, B
(5) s we

134. Syt wid TaEHS 1 GHMAT Bd 57
(1) 1990 (2) 1992
(3) 2000 (4) 1980

(5) argeilRa e
135. fywiifeha # & W1 &1 wrtde & w87
(1) verffe At &1 w9
(2) e &1 Hed
(3) fafa &1 AraH
(4) 30 &1 FERITINT

(8) srefee west

a8 feas war

136. “Public enterprises are the temples of Mndjm"“ e SUHH SgFHE WRa & Afer £
CTH

(1) Lal Bahadur Shastri (1) ST a&TgY e
(2) Smt. Indira Gandhi (2) el gfamr et
(3) Pr. Jawaharlal Nehru (3) 4. SraTEY oel HEw
(4) Sardar Patel (4) WReR e
(5) Question not attempted () sreifer W
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137. According to the Rajasthan State Budget
Kamgar
Protsahan Yojana™ has been implemented in the

Announcement 2022-23, “Khadi

State from -
(1) 17 September, 2022 (2) 13 July, 2022
(3) 17 July, 2019 (4) 15 October, 2022
(5) Question not attempted

138. Which of the following is an essential condition
for the successful working of Barter System?

(1) Social Backwardness
(2) Limited Area of exchange
(3) Lack of Transportation
(4) All of the above
(5) Question not attempted
138. Which one of the following districts of Rajasthan
stands at bottom across 33 districts in Rajasthan
Sustainable Development Goals (SDGs) Index-
2022 (3.0) -
(1) Barmer (2) Baran
(3) Pratapgarh (4) Jaisalmer
(5) Question not attempted
140. Marginal Revenue Product (MRP) of a factor of
production is equal to -
(1) MPP x AR (2) MPP x Price
(3) ARP x MR (4) MPP x MR
(5) Question not attempted
141. What was the tenure of the Twelfth Five year

Plan of Rajasthan?
(1) 2012-17 (2) 2014-19
(3) 2018-23 (4) 2016-21

(5) Question not attempted

142. “Saving which is an individual virtue becomes a

public vice." Who said it?
(1) Leftwich (2) Malthus
(3) Keynes (4) Robbins
(5) Question not attempted

137. 3o o0 @oie "iWen 2022-23 & e
IS SR WATEd AT I9g § B 0]
& 7Y
(1) 17 fyam, 2022
(3) 17 5, 2019
(5) sreia we
138. g% faffsg gomell @ Ywaar@ds Ha@a Bq

A I B &7

(1) et W

(2) fafrr @1 e &3

(3) ArEAT @1 AHE

(4) e wh

(8) sgwifta wee
139, fp=ferflaa # 9 wroremA &1 S fren wag

fa@wmw @edt (SDGs) qadie 2022 (3.0) F 33

(2) 13 Sarg, 2022
(4) 15 sraca, 2022

T

. foreit # W Fraet wrEE @ e @7
;_@ (1) ars"v (2) Trv7
(3) yamTe (4) SrEerR
(8) srgaifa we
140. {5l QIegTed & WNE BT S SH S
(MRP) & a¥&Y & —
(1) MPP x AR (2) MPP x Price
\ (3) ARP x MR (4) MPP x MR
(8) srgoila weA
141, Jrawen= @ aveEdl Yaasta i @ safe @
off?
(1) 2012-17 (2) 2014-19
(3) 2018-23 (4) 2016-21
(5) argafia we
“gEa Wl U AT O § 98 wihutie 98
S ¥ T 8| g8 e wEr
(1) dvefig (2) \reery
(3) T (4) <ifa=a
(8) srefa we
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143.Total Capital Expenditure of the Central 143 @ wwoN i §0® WidwS &3 IUHA B
Government and its public sector enterprises e ol ar R af 2012 siv R f

during the financial vear 2012 and financial ve,
€ Y YF'] 2022 & <R e aftea o W 997
M |

2022 increased at an average rate of -

(1) 10.00 percent (2) 11.00 percent (1) 10.00 wfevera (2) 11.00 wferer
(3) 13.00 percent (4) 12.00 percent (3) 13.00 wietrera (4) 12.00 wftrera
(5) Question not attempted (5) srafee we
144. When was Swarn Jayanti Gram Swarozgar 144 %9 Gia=fl 71 ¥RIOR AT &4 4o &
Yojana launched? e?
(1) July, 1999 (2) July, 2001 (1) . 1999 (@) FeTE, 2001
(3) April, 1999 (@) April, 2001 (3 apiei, 1999 (4) arfre. 2001
(5) Question not attempted (8) srgaar v
145. A Market has three sellers, the condition of the 145.t& ariR ¥ = fadar & o aom &
market will be called - FEAT —
(1) Perfect Competition (1) gof wfernfian
(2) Duopoly (2) gmifErer
(3} Monopoly (3) TEHTRIBR
(4) Oligopoly (@) FrEqTRIER
(5) Question not attempted (5) el

146. According to RBI Act, the limit of Cash Reserve: , (146. wwefi Rad & aifafam @ spar aryfaa
Ratio (CRR) of total deposits of Scheduled d®1 B B TR H AHE HIArEE (CRR) )

Banks is - T Far 87

(1) 3% to 15% (2) 5% to 15% (1) 3% 4 15% () 5% ¥ 15%

(3) 10% to 15% (4) None of the above (3) 10% ¥ 15% @) T & P
(5) Question not attempted (5) argaifee wes

147. The gap between the revenue receipts and 147. %o wiftwal dun Yo/ @@ & 419 &1 3=

revenue expenditure shows - T 8 —
(1) /o =er (2) Yo HIET
(1) Revenue Deficit (2) Fiscal Deficit

(3) Deficit Financing  (4) Primary Deficit (3) | @t fae s (4) e |

(5) Question not attempted - (5) s we
148. What is the cause of deflation? %:, - Hal Ha@Ee @1 1 SN 87
(1) Credit Control (1) wrE— =
(2) Excess Savings (2) arcafees a=d
(3) Increase in output (3) eare # gfE
(4) All of the above (4) So=rae &
(5) Question not attempted () srgafie wed
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149. Who termed demonetization as massive mis-

management, organized and legal robbery?
(1) Dr. Man Mohan Singh

(2) Raghu Ram Rajan
(3) Prof. Arun Kumar
(4) Arvind Subramaniam
(5) Question not attempted

150. The relationship between Marginal Propensity to

consume and multiplier is -

(1) Inverse (2) No Relationship
(3) Direct (4) Indirect

(5) Question not attempted

149. fow it &1 w1 fwewm, wafda a

HIEA SHal B Hel & 27
(1) SiwmET e

(2) TERTH 7T

(3) 306 FAR

(4) sfa=s gavas

(5) FrgaiRa ue

150. Wiy SosiT waftn @ o # v gmn o

g —
(1) faudia
(3) weey

(8) srgaiRe weel

(2) g ¥y 8
(4) ameuer
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